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Variation





Some plants are spiky. They are spiky because they have genes which instruct some of their leaf cells to grow into spines.





The aim of this activity is to investigate if the number of spines on a leaf is linked to the size of the leaf.





Instructions





1.	Collect a sprig of holly from the branches of a holly bush.


2.	Count the number of spines on each leaf and measure the length of each leaf.


3.	Record this paired data.


4.	Take the sprig back for someone else to use.


5.	Continue to sample leaves on different sprigs until you have a representative sample.


6.	Describe how your implementation ensured that your data was representative, reliable and accurate.





The results





Analyse the data by producing a scatter graph of length vs prickle number and draw a frequency bar chart for both length and prickle number.





Suggest a calculation that would demonstrate if there is a relationship between prickle number and length and describe why it would do this.





The conclusions





1.	What is the relationship between prickle number and leaf length?


2.	Is the variation in the features continuous or discontinuous?


3.	Is the variation likely to be the result of single factor inheritance?


4.	What are the sources of the variation that you have observed (you need to suggest at least 5)?


5.	Describe how holly may have evolved from a non-prickly ancestor.


